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tloa

^¬±µ£°±=«~·= £=¤­³¬¢=­¬=m~¥£=OOK

`olpptloa=mrwwib

3 A sign of the Holy Spirit�s
at (7,2,4)

4 men-
tioned in (6)

5 impurities described in
(13)

6 One of the deadly
(5)

7 In a just and accurate
manner (7)

11 (7)

 ·m¦§ª­ª­¥³± ç_§ ª£m³¸¸ª£±K¡­«

1 One who goes against
religious

(7)

5 Location of a room in

Bible (5)

8 Ancient Phoenician
city (5)

9 experienced this
before his crucifixion (7)

10 Strengthening
or confidence others; a
common theme let-
ters (13)

11 Solomon in the

(6)

12 Opposite of
divine (6)

15 A place where Jesus per-
formed (3,2,8)

18 To make
known (7)

19 Mythical creature in

Bible (5)

20 The number of
spent in the tomb (5)

21 Region in
where preached (7)

1 To move quickly, like
leaving Egypt

(5)

2 (7)

13 Left out, like
or in some

Bible translations (7)

14 A high-ranking
official (6)

16 A color often used
divine light
in the Bible (5)

17 Country in the
home to ancient cities

like (5)
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BABEL
BITUMEN
BRICKS
BUILD
BUILDING
CITY
CONFUSED
DISPERSED
EARTH

ç=_§ ª£m³¸¸ª£±K­°¥K³©

FACE
HEAVENS
LAND
LANGUAGE
LORD
MIGRATED
MORTAR
ONE
PEOPLE

PLAIN
SHINAR
STONE
TAR
TOWER
UNDERSTAND
WHOLE
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